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SOLUTIONS 
PHYSICS 

1. [1]   
 For B A : Q V W       
    A BO U U 30J      

 B AU U 30J     
 
2.  [1]  
 It is a isobaric process.  In isobaric process, pQ nC T   and W nR T    
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3.   [3] 
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 From ideal gas equation 013LT T   
4. [1] 
 Equation of Straight line AB is  
 P mV c   …[1] 
 Where m  slope 
  c  Intercept 
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 Putting P in equation [1] 
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5. [4] 



  Medical Droppers (2018 Aspirants) - Part Test - 4 

CENTERS: MUMBAI / DELHI / AKOLA / LUCKNOW / NAGPUR / NASHIK / PUNE / GOA / BOKARO / DUBAI  # 2 

 Heat given to gas 
PA C AA n T    

 Heat given to gas 
VB C BB n T    

 A B   
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6.  [3]  
 1/npV const  

 Differentating we get, 
p 1 .p

v / v n


 


 

 B p / n   
 
7.  [4]  
 At high temperatures, di-atomic molecules starts vibrating 
 
8. [3] 
 Slope of adiabatic process at a given state (P,V,T) is more than the slope of isothermal process. The 

corresponding P-V graph for the two processes is as shown in fig. 
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 In the graph, AB is isothermal and BC is adiabatic. 
 WAB = positive (as volume is increasing) 
 and WBC = negative (as volume is decreasing) plus, 
 BC ABW W ,  as area under P-V graph gives the work done. 
 Hence, AB BCW W W 0    
 From the graph itself. it is clear that P3> P1 
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26 [3] 
27 [1] 
28 [1] 
29 [1] 
30 [4] 
31 [2] 
32 [3] 
33 [3] 
34 [1] 
35 [3] 
36 [1] 
37 [4] 
38 [4] 
39 [3] 
40 [1] 
41. [1] 
42. [4] 
43. [1] 
44. [1] 
45. [2] 

ZOOLOGY 

136. [4] 
Sol. Myosin is structural as well as enzymatic protein 
137. [3] 
Sol. Myosin and actin filaments are arranged in a specific manner to form light and dark bands. 
138. [2] 
139. [3] 
 Total number of bones in human skeleton is 206, out of which axial skeleton has 80 bones and 

appendicular skeleton has 126 bones. 
140. [2] 
Sol. Pivot join is present between atlas & axis vertebra of vertebral column 
141. [4] 
142. [4] 
Sol. Red muscle fibres are highly vascular and have abundant mitochondria 
143. [1] 
144. [2] 
145. [4] 
146. [2] 
147. [4] 
148. [3] 
149. [2] 
150. [4] 
151. [3] 
152. [1] 
153. [2] 
154. [2] 
155. [3] 
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156. [2] 
157. [4] 
158. [3] 
159. [3] 
160. [2] 
161. [2] 
162. [2] 
163. [3] 
164. [2] 
165. [4] 
166. [3] 
167. [1] 
168. [4] 
169. [1] 
170. [4] 
171. [3] 
172. [3] 
173. [4] 
174. [1] 
175. [3] 
176. [1] 
177. [2]  
178. [3] 
179. [2] 
180. [3] 

 


